©
N
X
RN
o
&
o
N
X
=
o
&

T YF : A F : : :

o E : ) b : :

NO.15E------ i e F0.15F - g g Bepeees

AN F o

s F I S 1|

2e] ot R L P O A 0 T | ! PO AT T O R A

° 0 it v 0.1 g :
0.05F -+ i o B 0.05F = Hl-tr- 1+t t 1t Befeeee

+
&
-
=
.

9_02 ; v d L L |' 11 O O P L Y O PP 9_&2 da | o bl o | I | R I
8 2k : ol : :
[add 3 hd 1+ M 1 -II = | -% |41

(oS RN LA R RN

W -
B2 10 1 2 3 g 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127
—+— DQM_TT__mkFit-DQM_mod_updatedmod-127

|
w

o

L

N

o o
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

o

.glOO;""I""I""I""I""I"" .9_100;||||I i
< 15 " b 4 T 2K H-
@ 1 T4 1 H 44 o o 4
E N 411 1+ . 4
05:—- E
ok : . : : ; - o% : : : ; G
= -2 -1 0 1 2 3 -3 -2 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

<op/p.> (%)
O = N W N O

..........................................

0o 1 2 3
TP n (PCA to beamline)

T T T T T T T T [T T[T [ T T [T T LTI T T[T rTT

———p——- L

|
w

IE
N

|



	Contents
	Page 1


